
$)),'$9,7
67$7(�2)�)/25,'$
&RXQW\�RI�BBBBBBBBBBBBBBBBBBBBBB

%()25(�0(��WKH�XQGHUVLJQHG�DXWKRULW\��SHUVRQDOO\�DSSHDUHG���BBBBBBBBBBBBBBBBBBBBBBBBBBBBBB�ZKR�EHLQJ�E\�PH�ILUVW�GXO\�VZRUQ��GHSRVHV�WKDW�����$IILDQW�LV��BBBBBBBBBBBBBBBBBBBBBBBBB��SDUHQW�RU OHJDO�JXDUGLDQ�RI�BBBBBBBBBBBBBBBBBBBBBBBBBBBBBB��DQG�PDNHV�WKLV�DIILGDYLW�RQ�SHUVRQDO�NQRZOHGJH��� $IILDQW�VWDWHV�WKDW�WKH�FKLOG���BBBBBBBBBBBBBBBBBBBBBBBB��KDV�FRPSOHWHG�D�KRPH�HGXFDWLRQ�SURJUDP��SXUVXDQW�WR�WKH�UHTXLUHPHQWV�RI�)/�6W����������
)857+(5�$)),$17�6$<(7+�127�

BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB6LJQDWXUH�RI�3DUHQW�RU�*XDUGLDQ
67$7(�2)�)/25,'$&2817<�2)� BBBBBBBBBBBBBBBBBBBBBBB
6:251�72�DQG�VXEVFULEHG�EHIRUH�PH�WKLV�BBBBBB�GD\�RI�BBBBBBBBBBBBBBB����BB���BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB��1DPH�RI�SHUVRQ�PDNLQJ�WKLV�VWDWHPHQW�
6LJQDWXUH�RI�1RWDU\�3XEOLF�± 6WDWH�RI�)ORULGD
�3ULQW��W\SH�RU�VWDPS�&RPPLVVLRQHG�1DPH�RI�1RWDU\�3XEOLF�
3HUVRQDOO\�.QRZQ�BBBBB�RU�3URGXFHG�,GHQWLILFDWLRQ��BBBB7\SH�RI�,GHQWLILFDWLRQ�3URGXFHG��BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB


